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0;

X = zeros(size(n));

x(1) = 1;

y=recur (a, b, n, x, x0,y0);

subpl ot (221), stem(n,vy)

title('1a)’)

xl abel (" n")

yl abel (*y[n]")

y(1:5) %displays y for n=0 to 5, used to doubl e-check hand answers

% b)

a=2; b=[0 2];

n = 0:30;

yo = 0;

x0 = 0;

X = zeros(size(n));
x(1) = 1;

y=recur (a, b, n, x, x0, y0);
subpl ot (222), sten(n, y)
title('1b)")

xl abel (" n")

ylabel ("y[n]")

y(1:5)

% c)

a=[1.2 .32]; b =11 -1];
yo = [1 2];

x0 = 0;

X = ones(size(n));
y=recur (a, b, n, x, x0,y0);
subpl ot (223), stem(n, y)
title(’'1c)’)

xl abel (" n")

ylabel ("y[n]")

y(1:5)
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